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int sato = 178;

int *isako;
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int *isako, hiroko; /* isakod intO0OO0OOO0OOhirokoOd intO0O0 OO0 */
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int vc[5] = {10, 20, 30, 40, 50};
int *ptr = &vc[0];
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int *ptr;
ptr = &vc[0];
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int *ptr;
*ptr = &vc[0];
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void int_set (int *vc, int no, int val) {
}
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#include <stdio.h>
/¥*---n1l0n200000 sumO diff000 ---%/
void sum_diff(int nl, int n2, int *sum, int *diff) {
*sum = nl + n2;
*diff = (n1 > n2) ? nl - n2 : n2 - nl;

}

int main(void) {
int na, nb;
int *wa, *sa; /* «< 0O00OOO0O0OO */

puts("OO0O0OOOOOOOOOO0QOQO™;
printf("OOO0O"); scanf("%d", &na);
printf£C"OOOO"); scanf("%d", &nb);
sum_diff(na, nb, wa, sa);

printf("OD0%d 0 00¥N00%d000¥", *wa, *sa);

return (0);
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#include <stdio.h>

int *sum_diff(int nl, int n2) {

int ret[2];
ret[0] = nl + n2;
ret[1] = (n1 >n2) ?2 nl - n2 : n2 - nl;

return &ret[0]; /* OD00O0O000OO0OOOOOO */

int main(void) {
int na, nb;

int *wasa;
puts("OOOO0O0OOOOOOOOCOO™);
print£f("O0OO0O"); scanf("%d", &na);
print£f("O0OO0O"); scanf("%d", &nb);

wasa = sum_diff(na, nb);

printf("O0%dO000¥n 0 0% 0 00O¥n", wasa[0], wasa[l]);

return (0);
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